C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a 6 with the value of 600 or 6 hundreds?
A. 468 B. 9,468 C. 3,641 D. 467

Which choice has a4 with the value of 4,000 or 4 thousands?
A. 2,89 B. 87,142 C.6,924 D. 4,398

Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 184,296 B. 458,291 C. 78,359 D. 94,783

Which choice has a 6 with the value of 60 or 6 tens?
A. 619 B. 936 C.63 D. 56

Which choice has a 2 with the value of 200 or 2 hundreds?
A. 285 B. 523 C. 1,832 D.721

Which choice has a5 with the value of 5,000 or 5 thousands?
A. 48,235 B. 8,573 C. 7,835 D. 35,789

Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 673,281 B. 28,746 C. 264,157 D. 816,942

Which choice has a2 with the value of 20 or 2 tens?
A. 327 B. 268 C.82 D. 482

Which choice has a5 with the value of 500 or 5 hundreds?
A. 7536 B. 265 C. 1,375 D. 5,817

Which choice has a7 with the value of 7,000 or 7 thousands?
A.1724 B. 94,751 C.9,726 D. 27,896

Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 746,531 B. 639,841 C. 63,941 D. 13,574

Which choice has a7 with the value of 70 or 7 tens?
A.37 B. 47 C. 476 D. 527

Answers

10.
11.

12.

C

1-10 | 92|83

75|67 [58[50( 4233|2517 |

M ath ] www.CommonCoreSheets.com 11-12| 8




C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a 6 with the value of 600 or 6 hundreds?
A. 468 B. 9,468 C. 3,641 D. 467

2) Which choice has a 4 with the value of 4,000 or 4 thousands?
A. 2,89 B. 87,142 C.6,924 D. 4,398

3) Which choice has a9 with the value of 90,000 or 9 ten thousands?
A. 184,296 B. 458,291 C. 78,359 D. 94,783

4) Which choice has a 6 with the value of 60 or 6 tens?
A. 619 B. 936 C.63 D. 56

5) Which choice has a 2 with the value of 200 or 2 hundreds?
A. 285 B. 523 C. 1,832 D.721

6) Which choice has a5 with the value of 5,000 or 5 thousands?
A. 48,235 B. 8,573 C. 7,835 D. 35,789

7) 'Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 673,281 B. 28,746 C. 264,157 D. 816,942

8) Which choice has a 2 with the value of 20 or 2 tens?
A. 327 B. 268 C.82 D. 482

9) Which choice has a5 with the value of 500 or 5 hundreds?
A. 7536 B. 265 C. 1,375 D. 5,817

10) Which choice has a 7 with the value of 7,000 or 7 thousands?
A.1724 B. 94,751 C. 9,726 D. 27,896

11) Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 746,531 B. 639,841 C. 63,941 D. 13,574

12) Which choice has a 7 with the value of 70 or 7 tens?
A.37 B. 47 C. 476 D. 527

Answers
1 C
2. D
3 D
s, C
5. A
6 D
7 B
. A
9. A
0. D
11. B
12. C
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